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PUBLIC ADMINISTRATION
@52;13@033‘@5
Paper -l
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1. Which one of the following is not the
characteristic of the ‘ideal type’
bureaucracy as propounded by Max
Weber ?

(A) Officials are organized in a hierarchy
of office

(B) Legal authority
(C) Merit based selection

(D) Administration function on personal
obligation

2. Who provided the following
perspectives of public in Public
Administration ?

Public as interest group
Public as rational chooser
Public as represented
Public as customer

Public as citizen

A) Ferrel Heady

B) Gabler

C) Simon H

D) George Fredrickson

ok~ b~

A~ AN~ o~

3. Which one of the following is not true of
Estimates Committee ?

(A) To scrutinize the estimates

(B) All members are drawn from Lok
Sabha

(C) Comptroller and Auditor General of
India provides expert assistance

(D) It suggests the form in which the
estimates are to be presented
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4. “Indicative Planning” refers to
1. Broad directions for development
2. Long-term goals in specific areas
3. Planning of the Public Sector
(A) 1,2,3 (B) 2and 3
(C) 1and 2 (D) 1and 3

5. Judicial control over administration is

exercised by

1. Writs

2. Adjudication

3. Judicial review

4. Public Interest Litigation

(A) 1,2and 3 (B) 1,2and 4
C) 2,3,4 (D) 1,3and 4

6. A : District Collectors are the Principal
Census Officers in their respective
district.

R: Census is a subject in the Union
List of the Seventh Schedule of the
Constitution of India.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

7. The President of India is elected by an
electoral college comprising of

(A) Members of Parliament

(B) Elected Members of Parliament and
Members of State Legislative Assembly

(C) Members of Lok Sabha and Members
of State Legislative Council

(D) Members of Rajya Sabha and Members
of State Legislative Assembly
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8. International Development Decade for
Women is
(A) 1975 — 1985

(B) 1991 — 2001

(C) 1980 — 1990

(D) 2003 — 2013

9. The New Public Management gives
emphasis to
1. Voucher System
2. Elimination of State
3. Public-Private Partnership
4. User Charges
2,3,4

10. Which of the following ideas was
advanced by Marry Parker Follett ?
(A) Deconstructive conflict
(B) Organizational design
(C) Constructive conflict
(D) Unity of command

11. Motivation theory is not synonymous
with behavioural theory. The motivation
are only one class of determinants of
behaviour. While behaviour is almost
motivated, it is almost biologically,
culturally and situationally determined
as well”.

Identify the author of the above
statement.

(A) Likert R

(B) Chris Argyris

(C) Abraham Maslow

(D) Kautilya

8. ©oSTEAD Sy, W’ TR0
(A) 1975 — 1985

(B) 1991 — 2001

(C) 1980 — 1990

(D) 2003 — 2013
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12. Match the following list :
List | Listll

A. Paul Appleby 1. Administrative State :
A Study of the Political
Theory of American
Public Administration
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B. Herbert Simon 2. Science of Public @m6§55@§@&&3@$
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13.

“That they (the village) have survived
through all vicissitudes may be a fact.
But mere survival has no value. The
question is on what plane they have
survived. Surely on a low, selfish level.
| hold that these village republics have
been the ruination of India. | am
therefore, surprised that those who
condemn provincialism and
communalism should come forward as
champions of the village. What is the
village, but a Stink of localism, a den of
ignorance, narrow mindedness and
communalism ? | am glad that Draft
Constitution has discarded the village
and adopted the individual as its units”.

Who amongst the following made this
statement during the debates of the

Constituent Assembly ?
(A) Dr. Radhakrishnan
(B) Dr.B. R. Ambedkar
(C) Balwantrai Mehta
(D) Mahatma Gandhi
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14.

15.

16.

A: The entire administrative
machinery comes under the

potential control of the legislature.

R : This is because every action may
provoke a question, every
question an adjournment debate
and every adjournment debate a
full-dress debate.

(A) A and R true and R is the correct
explanation of A

(B) Both A and R true but R is not the
correct explanation of A

(C) Aistrue, Ris false

(D) Ais false, Ris true

Which of the following characteristic
explain Communication Network ?

1. The amount of organization space

covered by types of organization

2. Direction of information flow
Reaction to transmission of
information which can provide
feedback to the transmitter

w

4. Proper coding of information
(A) 1,2 (B) 1,3
(C) 4 (D) 3

A : The participatory decision-making
model associated with the New
Public Administration is not related
to the traditional concept of
representative bureaucracy.

R : Co-operative approach to solving
problems can be associated with
security, openness, private
expectation, positive orientation
towards others and ability of reach
compromise decision.

A and R true and R follows A

A and R true, but R doesn’t follow A

A true, R false

A false, R true

(A)
(B)
(C)
(D)

14.

15.

16.

& HOTeD ZS?SESQ 8o T K)U"&sa oY
Qg JaoEes Eodd $:900

D1 50003 QoG 500 ol BB
e (BT SIIBBo0B. KPS (%)
BTGB DTV T D0
D00 Ho00K0 RS HEEren B 8.l
28 "0 B0 Eireseiosuod

(A) O D0B0x0 esb BoddT HOCLH LB

€38 2 & DBAD JHTE

(B) 2 50800 esb Dot HOGB. 570 esb
& DO e S0

(C) 220300 520 esb &y
(D) 82y 570 esb 00O

52300 TS’ A0 HICTT SR0D0TT H559
OFETOR0 DLODVOOL
1. DA 55008 289 & 5698 DS

@ogaagg? @méocsz'{fogbai&g& :
DETTE0 (EHIro Qe
DRITTO°) DOWOVD0EIEd HOBHoM es
DGR DO BSBg

4. SSrTORY 50 BEAE E'Gse
(A) 1,2 (B) 1,3
(C) 4 (D) 3

w n

S RereriTgog APaITESE S50 SIED

(DeY8 5 P50 VooROAID 5°J

TOETAD RS e8P0y SN0

502200 WIE D

050 H0KY,000ECE” BISE EyEEo

S0 s, TI050 BB, 53 essairey,

JOEOY D) @XOETY VTP 000I0

TR Tt H:s5d) BAS

i)";ﬁag e 5083 90T O DoV

(A) O 20B0x0 esb Bodr HOCWH LB
€38 2 & DBAD Ve

(B) 508000 €55 Vot 50300, 520 esd J
5BCD ASSE S0

(C) 2200, 520 esb B3y

(D) 82y 570 esb D8O

es0

e

A-21-03




17. The main justification for the institution
of local government is
(A) lts administrative convenience
(B) An outcome of decentralization
(C) As a base for democracy
(D) lIts historic existence

18. Modern local government differs from
ancient local government in its

1. Representative character

2. Elective nature

3. Legal position

4. Popular demand for creation
A
B
C
D

123

(
(
(
(D) 1,2,3,4

) 1
) 1
)
)

19. The central idea of subsidiarity is that,
citizens

1. get subsidy

2. ascustomers
3. as stake holder
4. as sovereign
(A)

(B) 2,4
(C)

(D)

20. Organization is

(A) Group of People

(B) Interpersonal Relations
(C) Informal interaction
(

D) Structure of authoritative and
habitual planned interaction in an
administrative system

17, I He0; 500 Jomensd HOCIN S°EE0
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21. Match List I with List 1l

Listl Listll

A. Commission 1. Vijay Kelkur
on Centre-State 2. R.S. Sarkaria
Relations

B. Committee on
Civil Service
Reforms

C. 13" Finance
Commission

A B

3. M.N. Venkatachaliah

4. P. C. Hota

>

(

(B
(C
(

\gvvv
W w NN
- DN DN -
Ao w0

22. Public Policy is one sphere of social
action affecting other sphere of social
action is called

(A) Externalities
(C) Out-come

(B) Black box
(D) Incrementalism

23. Which President of United States of
America introduced the system of
Performance Budgeting ?

(A) Truman

(B) John F. Kennedy
(C) Jimmy Carter
(D) Bill Clinton

24. “It is a formal process of policy review
for eliminating the undesired, outdated,
redundant and irrelevant programmes”.
This principle is followed by which
budgeting system ?

(A) Sunset Legislation

(B) Programme Budgeting

(C) Zero-based Budgeting

(D) Performance Budgeting

21, 3000563 2963850 DO 96358 ess0od
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25.

26.

27.

28.

When was the Central Social Welfare
Board was set up ?
(A) August, 1953
(B) January, 1953
(C) August, 1954
(D) October, 1953

Who of the following administrative
thinker was the main advocate of
juridical approach ?

(A) Frank Goodnow

(B) L.D. White

(C) W.F. Willoughby

(D) Luther Gullick

Two factor theory was propounded by
(A) Maslow A.

(B) Fredrick Herzberg

(C) R.Likert

(D) Douglas McGregor

Which of the following provisions are
correct about Indian Councils Act of
1861 ?
1. It initiated the process of
decentralization by restoring the

legislative powers to the Bombay
and Madras Presidencies.

2. It accorded the statutory recognition
to the portfolio system.

3. ltempowered the Governor-General
to frame rules for more convenient
transaction of business in the Council.

It established Supreme Court at
Calcutta as the Highest Court.

1,2,3
1,2,3,4
2,3,4
3and 4

>

(A)
(B)
(C)
(D)

25.

26.

27.

28.
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29. Match list 1 with List Il and select the
correct answer by using the codes given
below the lists

List| Listll
A. Dual Budget 1. India
B. Single Budget 2. Britain
C. Cash Budget 3. US.A
D. Revenue Budget 4. France
Codes :
A B C D
@A 1 2 3 4
B 4 3 2 1
<Cc 3 1 4 2
by 3 4 2 1

30. In Budget, “Guillotine” is applied to
those demands that are

(A) discussed and approved

(B) discussed but not approved
(C) not discussed for want of time
(D) none of the above

31. Which of the following category of
employees do not come under the
purview of Central Administrative
Tribunal ?

1. All India Services

2. Secretariat Staff of the Parliament

3. Secretariat Staff of the Supreme
Court

4. Staff of Central Secretariat

(A) 1and 4

(B) 2and 3

(C) 1,2,4

(D) 2,3,4

29. 200053 563550 Boesd DeE ensesiEd oS
287%) e (Code) Hraos’ $OaS
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B35 — 1 Begs -1l
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B 4 3 2 1
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32. Maitch the following :

List A List B

A. Science of 1. C.l.Bernard
Muddling Through 2. Y. Dror

B. Mixed Scanning : 3. H. A. Simon

Charles
Lindbloom
Amiti Etzoini

A Third Approach to 4.
Decision Making
. Functions of the
Executive
Models of Man
A B

5.

N A 2w
- wwhAQg

1 2
4 5
2 1
4 3

Somez

(
(
(
(

33. The characteristics of Administration
are best described as

(A) Span of control

(B) Organization and management

(C) Planning

(D) Finance

34. A: The development of administrative
law in a Welfare State has made
administrative tribunals a
necessity.

: Central Administrative Tribunal
(CAT) was established to provide
speedy and inexpensive justice to
Central Government employees.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true and R is not
the correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

32. 208 T3 3SHHED0G

295 — A 235 — B
(flogren einlobLI U
A. 23 eh WGl E 1. 2.00. 8000
B. 236 9,20h: 2. 3.6
2 56 @S €20 DS
202h
C. 3055 D 8NedS 3. S0, P%d
D. Sxedy esh 5oy 4. TS do&arTo
5. 08 655
A B C D
A 1 2 3 4
B 4 5 1 3
Cc 2 1 4 3
) 4 3 2 1

33. Jros oFereo 08 T3 oo DASTor
EEEBOVRET 00

(A) JooBETSE

(B) 555 950000 Qe
(C) ey

(D) esBx

34. O DogHo U"as?goe‘is @c%&é’)@egejﬁ BHeFodo

Errofoneld HoTo EJargide

DTN &8 SHFEIDO

b B0 Ea0Es el 808 Asom
080T PFNE Fo0E" T
01508 Bois ) R3S ergsdiso
DTy DO

(A) 22080k 35 Bodi HOARHY 300K esd
2 £ VOGS IS

(B) 25000k €55 Dok OG0, 20 esd D
& DO e ¢

(C) 20008, 320 &b 8%y
(D) &0y 5 e85 DO

e
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35. “Development Administration has not 35. “RABT0N @EosO0Ns WY, @AY

Only SurViV?d the limitation of its @@mmmam @aﬁésdoﬁéogwﬁﬂm%‘gé’)&
founders, but it has successfully adapted

. 200N 5758y Qﬁz‘ﬁd&’é"’é&§ KSﬁJ"?S@éJ
to a much more realistic set of )
expectations about the process of Srrofotaoly.
development and the potentialities of 308 55000B08” A5t P IS BT
the public sector”. Identify the author (A) &b (pesBE 98

who stated as above.

(A) George Fredrickson
(B) F. W. Riggs

(C) David Easton

(D) Milton Esman

(C) G& Beds
(D) QogsS 505

36. “B0 $rotol” DO §ols DED) 2 BEoE’

36. Gerrymandering is associated with the Q0200650 6:08 ?
following country (A) 6
(A) U.S.A. ®) o
(B) China =
(C) Japan (C) &3
(D) Norway (D) =G5
37. By which Amendment to the Constitution 37. 20098506 TR0 @RS Ao Terorod”
were fundamental duties added ? FOLIDGC08 ?
(A) 41° Amendment (A) 415 5568
(B) 42"* Amendment (B) 42 5 55856
(C) 43" Amendment (C) 435 5558
(D) 44™ Amendment (D) 44 5 555
38. A cognitive approach to Motivation 38. (WUEr GHFFTO D WOT VI DON eSS
focus on D000 9
A E:r{:\:gtiglcal aspect of human (A) 5555 58550 502000 JTH0E ©oBo
(B) Impulsive aspect of human (B) 5735 ©5E55> Sowofod BIDATed
behaviour 2000 GBS0
(C) Influence of rational values on (C) 555 DIIFLH Dowofod rsoag
human behaviour DeHess HEPIB0 BALEo
(D) Influen.ce of environment on human (D) 57555 (55055 3 Somg5050 50
behaviour ==

4 13 A-21-03




39. “The debt is in the form of promises
made by the treasury to pay to the
holders of these promises a principle
sum and in most cases interest on that
principle”. This statement is made by

(A) Philip E. Taylor

“ 55690 ©908) PTTE0L SFSo T
0 DYOWIORG. 59 W’ e
@000 DGO, T BoSTHEE” & BGBO WS
96 50602” B TG IS DD

(A) 295 e, b

39.

(B) J. K. Mehta (B) &3 2oer
(C) R.Musgrave and P. Musgrave (C) b, SR 500000 . SB[
(D) Appleby (D) @388
40. Public choice is concerned with ‘pareto 40. 0eS wosedon R @ eSS EErdy
optimality’ a concept originally QCToTIE 0eI0HOVID. B THE
developed by economist BSTEODVI BT €08 TG
(A) Vilfredo Pareto (A) IEHE 250
(B) Adam Smith (B) ess5> 9(0(25%
(C) William Pareto (C) 280070
(D) Karl Popper (D) =626
41. A remedy or proceeding whereby a .
: L . 41, 568 o8 53R ITHTOD WPTT D BAS
superior court inquire into the legality of ° j i
the claim, which a party asserts to office, SRRGH PRHOUTYE, T P ERYB T
called R0 TR0, BAR T 58370 ST
(A) Habeus corpus (A) ROBR TG
(B) Quo-Warranto (B) §°.oB0eS’
(C) Mandamus (C) roceoR
(D) Certiorari (D) 29050
42. The 73" Constitutional Amendment 42. or58 TerETRR T3 5 TN B35 TN
added a new Schedule to the Indian 0T BBYS T 100508
Constitution. Identify the Schedule
N (A) 12%
(A) 12 B) 11
S
® 11" ®)
() 10" (C) 10x
(D) 14t (D) 145
e 14 A-21-03




43. Who among the followings was not the 43. 206 T0E" TN ST B0 Eoed
member of Drafting Committee of the 05050 T T IS0 9
Indian Constitution ?
ndian on§|U|on (A) 56 oo 536
(A) Dr. Rajendra Prasad £ o
(B) Dr. Bhimrao Ambedkar (B) o oS o @
(C) Shri K.M. Munshi (C) 3. ao. 5009
(D) Shri Gopalswamy Ayyangar (D) & Rrorsdo eaboemd
44. The office of the Vice-President of 44, &R00S° GG STRADO “DoBNdS KT
U.S.A. has been described as ‘His SFBOTRASEN BPodudod. Bs Eod
superfluous Highness”. Who amongst s
BE° A5G T HE, TN 2
the below mentioned described this ? JOA B @,@ ; oY
(A) Abraham Lincoln (B) @Lz@;ﬁ:g
(B) John Adams (C) :a;;g X s
(C) Benjamin Franklin (D) o);)eﬁﬁ%@%
(D) Al Gore D)
1 £ (
45. “We have the British Constitution, but 45. "Souss @8QUO%OKO Soth. 59 60 3T
. . D584 BYANE, 38 AN, Eraved S
nobody knows what it is, it is not written _ 4
down anywhere, and you can no more ‘mioj“ &I V‘O‘b OOBTS0 76 g;?s
amend it, then you can amend the East GRG0l HH0UHEY). S 0T
wind. But in the U.S.A. you have a real Q0 TR RIS H000 BESHA DHS
tangible, readable document. | can nail I EERD Do eod. BIS” BOVS B
you down to every one of its sentences.” T B B0 DErDOBIOD”.
Who made the above statement ? (A) erdest
(A) Balzac (B) =f doné
(B) George Bernard Shaw (C) 2Eax05
(C) Shakespeare (D) &%
(D) De Tocquevile
46. 200 eI P, Gayg. Jod ErabBenHoed
46. Which of the following papers have not T 959 9
been written by F.W. Taylor ? (A) 5o 565/ S et
(A) Art of Cutting Metals «
(B) Piece-Rate System (B) roz0e o8
e Sy Em (C) 7 e wrgre
©) Pnnc-:lples o.f .SC|er.1t|f|c Manage.ment R R a—
(D) Public Administration : Art or Science e
e A-21 - 03




47. Arrange the following stages in the
evolution of Public Administration in
their ascending order of their
development

1. Classical Principles Approach
2. New Public Management

3. Public Policy Approach

4. New Public Administration

(A) 1,3,4,2
(B) 1,4,3,2
C) 1,3,2,4
(D) 1,4,2,3

48. According to Yehezkel Dror, “Meta
Policy” refers to

(A) Study of futures

(B) Master Policy

(C) Study of Political feasibility

(D) Policy on “Policy making system”

49. Identify the chronological sequence in
which the following institutions were
established ?

1. Life Insurance Corporation of India
2. Committee on Public Undertakings
3. Damodar Valley Corporation
4. Nationalization of Banks

(A) 3,1,2,4 (B) 3,2,4,1

) 1,2,8,4 (D) 1,3,4,2

50. The theoretical framework of research
examines the interrelationships among

(A) Variables
(B) Hypothesis
(C) Concepts
(D) Theories

47. 200 28X 5808” (Ha0Gs JOT T LTI
DOETIL ESPHHQ Ted DB Eor (B
5006 Eod8) Beyod

1. TPoEmrod oI GY5)E0
2. BrE0 anss AT

3. Reeg DT Yo

4. 8385 BanBETeD

(A) 1,3,4,2

(B) 1,4,3,2

(C) 1,3,2,4

(D) 1,4,2,3

48. 2355 (D (5750 DeTRoRy A D08 ?

(A) 23S exgioddo

(B) J55 weavssxo

(C) TresSad esises exsoliso

(D) “g55 B0 $55” P o

49. o WELBY FgS Qo DTS T7¢3
TOENIRORERD HEVES0S” HY0N0d
1. grEBo0 B8 Do T7EYONS
Be0850oN Hoge Eed
TSSO 5305

H 0D

20500 23 AH0ESED
(A) 3’1’2’4 (B) 3,2,4,1
(C) 1,2,38,4 (D) 1,3,4,2

50. $0F°GT 2o 90 300 Ted Bogsy wond
1508305000 5088800
(A) $7t0e] @07 00/ QB05°0 @07 e
(B) 03656032663
(C) &
(D)

D ?ozs@t’ OT°D

e
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51. The basis of Scientific Social Research is
(A) To test and prove hypothesis
(B) To disprove hypothesis

(C) To formulate research problem, test
hypothesis in controlled situations
and challenge them

(D) All the above

52. |dentify the chronological sequence in
the appointments of the following
Committees.

1. Asoka Mehta Committee on
Panchayati Raj Institutions

2. Paul Appleby’s Committee on Public
Administration

3. Balwantray Mehta Committee on
Panchayat Raj Institutions

4. Departmentally related Standing
Committees to consider the demand
for grants

2,1,3,4

53. Which one of the following is true of “Right
to Strike” by civil servants in India ?
(A) Prohibited by Law
(B) Strike constitutes breach of discipline

(C) Right to strike is mentioned in
Conduct Rules

(D) All the above

54. Central Administrative Tribunal was
established in the year
(A) 1984
(B) 1985
(C) 1986
(D) 1987

51. TR0 RIS SO ESD FrENes
(A) 205BB DOFOD HSoBAKD DS
Nlobpslotnlate)

(B) 05eybe0 edEshd) 8TH0tcEo

(C) 508%50e 535085 Kyor B350, AoHodD
5858008 $05eySeRs 5580e0 HBA)
T30 S0 Daveio

(D) 22 @5&

52. 2o 8036'°b§ $eio DTS TS
SOESTEOIR SENES0S HO0E0G

1. Somandoe $oy » o5 e 5068
2. (Rands oS P IS el $oed

3. H0T o0 Toef D0 W 2OBTAD T

3

£0e3
4. 30 c%;SJ"oC‘;) ()X AISN $030S5 8

502500005 @;ooj" Qoo

(A) 2,1,8,4

(B) 2,3,1,4

(C) 8,2,1,4

(D) 3,1,2,4

53. 57655 22550508y (R0, 5 Sowodo $ob
T%3S° DO BOBHS ?
(A) 5e0 o DB Qowexicio
(B) 520y ES03EET 0050050 02030000
(C) S20, 5, BT AALRTHIE” 2FY,H¢0
220A08
(D) 22 @5&

54. S0/ HOTOT TS O HodE s’
DTy DODEOD
(A) 1984
(B) 1985
(C) 1986
(D) 1987

e
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55. A : Rule of Law vindicates the
supremacy of Law.
R : Discretionary power leads to

arbitrariness.
(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Aistrue, but R is false
(D) Ais false, but R is true

56. InIndia Fundamental Rights that can be
enforced in a Court of Law is called

(A) Human Rights
(B) Basic Rights

(C) Justiciable Rights
(D) Civil Rights

57. Match List I with List Il
List |
A. Herbert Simon

Listll
Mega and Meta
Policy
Incremental Policy
Bounded Rationality

1.

B. Yehezekel Dror 2.
C. Charles Lindbloom 3.

4. Mixed Scanning
A B C
A) 3 1 2
B) 3 2 4
) 2 1 3
(D) 3 4 2

58. Who among the following wrote on
“Politics of Budgetary Process” ?

(A) J. Birkhead

(B) A. Premchand
(C) Aaron Wildavsky
(D) B.N. Gupta

LSRN0l e 960 ool TR
DET2:3308

55. &

&0 1 S FET O o0 IToFEIS oo
S0
(A) 2 SoB0M esb Do HBAXHY BodATw
€38 2 & DBAD e

(B) 2 %0805 €36 Bor HDO@BIX. T2
€35 2 & BBAD VHE? T

(C) 200300 520 esd By
(D) &0y 5 e85 DO

56. 2rS8tE08” PEDY 8,08 TEH T
THO° DERENE D) T° 0eTEd
(A) 57750 5o
(B) 3705 ri),00
(C) Trebeadand sy o0
(D) sy e0

57. 300053 263550 Do 96358 essocsioods

SERY B — I
A. TG s 1. Jom $o80500 Boer
D0
B. 28585 b 2. LoDOCO G0
C. TBS &0& o 3. B0 wrEngd
4. QEH0 HDOJd
A B C
A) 3 1 2
B 3 2 4
Cc 2 1 3
(D) 3 4 2
58. 200708" TrOedf) e wgead R oy
DD SDOTEd 2
(A) 2. O5&
(B) . (pa0508
(C) 58 5y,
(D) ©. S, o

e
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59. Under which Article of the Constitution
is the consolidated Fund of India
mentioned ?

(A) Art. 265
(B) Art. 266
(C) Art. 268
(D) Art. 270

60. “Summated Rating Scales” were
developed by

(A) Thurstone
(B) R. Likert
(C) Guttman
(D) P. Young

61. The Responsibility of preparing the
Union Budget lies with the Division in
the Department of

(A) Expenditure

(B) Revenue

(C) Economic Affairs
(D) None of the above

62. “A research design is the arrangement
of conditions for collection and analysis
of data in a manner that aims to
combine relevance to research purpose
with economy in procedure”. This

statement is made by

(A) Claire Selltiz and others
(B) P.V.Young

(C) Wilkinson and Bhandarkar
(D) B. N. Ghosh

59.

60. °

61.

62.

TergoNode) ) (B85 55 055035 DR 10°0)
[aloue)lsblel®

520,636 Be3oh RS > PG SO
(A) G625
(B) esb. @§b€53
(C)

(D) 2.cx0oh

S0IES 3Geddo BAIT Wa e S0¢S 87y
D779 e H0e080DSE ?

)
C) 05 3g05fTren
@
) 2 =)

“SOF I S0 (RO 2559 000K CRT0E
DBV DowOROVIB TEOw, HOFET
OF ) B ©0F ATgTer WO T30
TROVTIS EQBOVREIR”. B8 TR
D TBHE 2

(A) 36 0g S000K0 3800
(B) 2.3.c%0h

(C) DFESS 558050 gyord),b
(D)

D) &. a%s. 275,

e
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63. Choose the correct formula for
calculation of mode

(A) M:i+fl(m—c)

®) a=i+;@1-9

i+, —f,

z-_""h7lo
©) “= %, —1,

f (91-©)

64. According to which theory, leadership
has multi-dimensional characteristics ?

(A) Behavioural Theory

(B) Situational Theory

(C) Human Relations Theory
(D) Systems Theory

65. “As long as the study of Public
Administration was not comparative,
claims for a science of Public
Administration would sound hollow”.
This statement is made by

(A) Robert Dahl  (B) F.W. Taylor
(C) M. P. Follet (D) L.D. White

66. The philosophy of principles of scientific
management may be summarized as
under

1. Science, not rule of thumb

2. Harmony, not discord

3. Co-operation, not individualism
4. Restricted output

(A) 1and 2 (B) 2and 3
(C) 1,2,3 (D) 1,2,8,4

63. TVITRY B ouEod’ DO BIEY)
D3nE 0k

64. D ?ocsqjoééo (©5°00, TANEH0 TSP
oFETod0 SON 00l ?
(A) @38 3¢ oo
(B) % dgroso
(C) 37755 Sowogre deroBo
(D) g5 drzoBo

65. “D0edNEET e TR0 BT Eon®
GO0 DO, @5l S5 (SEOBOT
W@:X)& e.8 THom 0357;2365;0 2.8 QG5 /
DEZEPBTED” . 3B AHOD TG00

(A) Tabod

(B) oixp Céaaog &b
(C) oo, 2. 785
(D) oi>e§ &.3e5

o

66. oW JATrer SrEre ST ) Sod Ao
KOZNEBOBHE

. g0, 0l Mo J5 B
. 2850850, 8650 BB T

1
2
3. 5575750, $587¢50 520
4

(t;

. DOBRD B DOBTE
(A) 1 500050 2 (B) 2 50005 3
(C) 1,2,3 (D) 1,2,3,4

e
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67. The term of the President of France is
(A) 4 years
(B) 5years
(C) 6years
(D) 7 years

67.

) @G3R De5) S0
(A) 4 Donen

(B)

(©)

(D)

5 Koo
6 Solien

7 ol

68. Who said “ Power corrupts and absolute 68. “eO5°50 DAL 50700, OB O S0
power corrupts absolutely” ? 508 ©AVBE ST B9 IS ST ?
(A) Lord Beveridge (A) b a20§
(B) L. D. White (B) a6, &, 265
(C) Lord Acton (C) oessS
(D) Lord Curzon (D) €7°§ §g5
69. Which of the following is not a function 69. 208 57635 D8 CHFICHS :)@g 55550 2558
of Union Public Service Commission ? DO 595 9
(A) Recruitment (A) &5
(B) Disciplinary Cases (B) 5035505 5000000 AHires
(C) Promotion (C) 558
(D) Classification of Services (D) w0500 308053
70. “Selection from with in” refers to 70. ©OBRE :;cg@ O A0 DI BT 2
(A) Selection through promotion (A) S50 oo oo
(B) Selection on merit (B) cirrigh estrdon Jows
(C) Lateral entry (C) 8 5a0 S50
(D) All the above (D) 2 ey
71. The book Public Policy Making | 71 ©883ron3020R 0 g e 9igso 3563
Re-examined is written by ErORER0 ?
(A) Harold Lasswell (A) wodotad
(B) Yehezekel Dror (B) 258 d
(C) Herbert A. Simon (C) g 2. S
(D) R. Golevnbiewski (D) esb. FBISHI,
4 21 A-21-03




72. The State Finance Commission
constituted as per 74" Constitutional
Amendment relates to review principles
and financial position of

(A) Tahsil and District
(B) Municipalities and Panchayat
(C) Gram-Sabha and Corporation
(D) District and State

Read the paragraph and answer the questions
given below : (Q. No. 73 to 75)

The rise of the Cabinet Secretariat in India
since Independence is an indicator of the
growing centralization of policy and
decisional authority in the position of the Prime
Minister. The Prime Minister’s Office as well
as the Cabinet Secretariat have together
acted as overall supervisory agencies over
the line organization of the Union Government.
In the name of exercising co-ordination they
have amassed influence that is
disproportionate to their formal status. This
trend, however, should not be viewed as
antithetical to the general structure of a
Parliamentary or Cabinet Government. With
the advancement of technology, the
expansion in the scope of government and
the creation of a multitude of governmental
and semi-governmental agencies, the role of
the Chief Executive is bound to expand and
get enhanced. In the context of this inevitable
trend, care needs to be taken to ensure that
the normal channels of authority, viz.,
ministers and secretaries of respective
ministries and departments do not feel that
their authority is being eroded by any super
agency i.e. Cabinet Secretariat.

72. 7435 02g0l S50 0 TR0 Wabeds T,
0EB0R00 5+ S0 DT Yy 2 2500 QOO
580K 0 JANBIOS DAZoNEIS
5020080008

(A) S50 880300 e

(B) 5200y78e300 5580500 Somraden
(C) [rs0:ey 55810 26 Y00S

(D) e 50801 Tgo

B TG00 DA, BI0D gt 73, 74 500000
75 B85 SH5IE70red @N0oc

TBOTHOB0 erEEBFS SERT HITRK0
OGS HEZH00D FS® IR S00ad eSS
AaIred” w8 Sods §otue Hodso.
ETR00E SUTeHo 000 ST STTR0bo S
Sols PYoSs 85 T°Po P VDI Dezyoor
DGOTBRITNO. DR0PEOIR) TRoW BabSE &
DD RS DI ORI @IS ForETy o,
QXTI WS TIY WCPQRTTRON. JRpRels, B+
E5e8 G000 o sgfive] ©abes 2083 HHdson
SONEIODETEECD. DZYBRIYHBOD) TOSHEG, (80 30§
LD OO SRV (e, ©S-EabEs Desy DT
TR0 50095 ST DTITEOD E TTSON DS
75 50008 B0 THEE0 eXDIE0R. 5+ sy 5e3
D@8 SRS HITEANO DY Bo0EBOLY, eaiT
2000 3“’656563%@3 [0 TP BN WQTT
E9007 36300 PBITNOIRY BT S0l BAS
55000 S5 TD.

n+
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73. The role of the Cabinet Secretariat is
(A) Co-ordination
(B) To influence other Ministries
(C) Centralization
(D) All the above

74. A : Importance of the Cabinet
Secretariat is due to expansion in
the scope of Government.

R : Advancement of Technology has
resulted in creation of governmental
agencies.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Aistrue, but R is false

(D) Ais false, but R is true

75. Which of the following is true of Cabinet
Secretariat ?

1) Performs supervisory role over other
Ministries

2) Aims to erode the authority of other
Ministers and Secretaries

3) lts influence is proportionate to its
formal status

73. S@ReS OITe0bo B, T -
(A) 5505000
(B) 388 50088 7790 D (K870 WI%E0
(C) Sobgyso
(D) 2 28,8y

74. d : (Pe08g DOR ?-QGKCEO?S% S“’gé’)?}éj
SoRroao @“zsaogp?go 208R08

b T3S HENS Dodsto Ho (Hadsy
Desdyo Doy EeresRod
(A) 20000 esb Bockr HOABY 0O esd
2 £ VOGS IS

(B) 2 50800 esb Dot OGS, 570 b
& DO eI T

(C) 22000, 520 esb B3y

(D) 8y 570 esb 08O

75. 53 00 TS AR eS AT LATIS
20230800 DB HOAWHS ?

1) 385 S00@s To0 P IEEEE FBD0
Nlo\sicinatel

2) So0BoY, ST IR @RSTTOID
Se3omdaeso edo

3) 57 iRel HUTOADO B TOPVEPOIRD
T SRTBARBS’ (e BIHB00d

A\
w

e
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Space for Rough Work
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